2.6 Applying the Trigonometric Ratios

When we calculate the measures of all the Qﬂg lg! and dll the Sfdes in aright

triangle, we solve the 4vy Qh"b

EXAMPLE 1 : Solve. Give the measures to the nearest tenth.

A 2 sides € |an3l¢ unknown
H ¢B = 180°-90"-59" - 3°
A 1[59° NP (N1 )e0s 59" = Ac (A7)

N7
AC = (N )cosS9’

q)

3

C._I B = (4.!7.5\)(0550) fl:fj(: 2.]

0 = 2.123 sidenC- 5.5
(N7 )sins9 = B¢ (Wi7)
N7

= (N )(sS9) = (41251)(0.85T2) = 3 g3y

o) D 1 omale: and | side unknown
. D H gt + I5* = (pp)" tanF - -8§

289 = [(or>* "231?
] =N

@ IS IS zE 1')1' - ol. 90
hn D i -8_ ZEFD = zl lo
D= +an-' ( _'2) side 1);::4“,_
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EXAMPLE 2 : A small table has the shape of aregular octagon. The distance from one vertex to the
opposite vertex, measured through the centre of the table, is approximately 30 cm. There is a strip of
wood veneer around the edge of the table. What is the length of this veneer to the nearest

centimetre? .
45 = 22.5°

S
Y

)

8 (15)(sin 22.5)= X_ (15)
I5

X = (15)(sinze.5)
= 614ocem
Now,

2xS7M0 = |.480S em
(——w—J

lens-l-ln o one

side of +he
Oc-l'u?on.

Total lzn3+h = 8~ IL480S = 9].8440 cm

(554
Practice: p.111 #3a, 4a, 50, 6a, 7, 8, 10, 12q, 14q, 15 1
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